
COMPARATIVA RAK REALIZACION DATAVIDEO JULIO 2024

Modelo MS-4000 MS-3200 OBV-3200
Codigo Crambo 96339 84247 84242
Product 4K 8-Channel Mobile Video Studio HD 12-Channel Mobile Video Studio HD 12-Channel Mobile Video Studio
URL https://datavideo.com/eu/product/MS-4000 https://datavideo.com/eu/product/MS-3200 https://datavideo.com/eu/product/OBV-3200
Digital Video Switcher SE-4000 x1 SE-3200 SE-3200
17.3" Rack Mount LCD TLM-170KM x1 TLM-170VM x1 TLM-170VM x2
Recorder HDR-90 x1 HDR-90 x1 HDR-90 x1 (OBV-3200A)

HDR-70 x1, HDR-90 x1 (OBV-3200B)
Intercom/Tally System ITC-300 x1 ITC-300 w/4 Belt Pack ITC-300 w/4 Belt Pack
SDI Vector Scope Built-in TLM-170KM Built-in TLM-170VM Built-in TLM-170VM
Audio Mixer AD-300 x1 AD-200 AD-200
Power Distributor (8-
way)

PD-2A & PD-4A (Backup) PD-2A PD-2A

Return Video (8-CH CV) ---- ---- ----

Camera Control System ---- ---- CCU-200 x1

Camera Power 
Distributor

PD-6 (optional) ----

Multi-camera Control 
Unit

---- ---- MCU-400 / MCU-200 (optional)

H.264 Video Streaming 
Server

NVS-36 NVS-35 NVS-35 x1 (OBV-3200A)
NVS-40 x1 (OBV-3200B)

4K Multicamera 
Processor

---- ---- ----

Network Media Player ---- ---- ----
HD/SD SDI Amplifier ---- ---- ----
Rack System Integration 8U Flight Case 8RU Flight Case 17RU Mobile Rack Table

110 x 100 x 111 cm
Weight 65 kg 118 kg
Operating Temp. Range 0~40 °C 0~40 °C 0~40 °C

Options
Camera Power 
Distributor

---- ---- PD-5

Camera Power 
Regulator

---- ---- ----

Redundant Power 
(360W)

---- ---- ----

SDI/CV/ITC/DC Cable ---- ---- CB-66
CB-22H/23H Repeater ---- ---- ----
SDI/ITC Cable ---- ---- ----
ITC/Tally Cable ---- ---- ----
HDMI Cable CB-60/61/62 (30m/50m/100m) CB-60/61/62 (30m/50m/100m)
100m SDI Repeater VP-633 / VP-634 ----
What's in the Box 1 x MS-3200 product

4 x ITC-300SL Belt Pack
4 x Tally LED Indicator
4 x Headset with microphone
1 x Goose neck MIC
4 x Ethernet Cable
4 x RJ-45 Protective Shield Set
4 x GPI Cable
1 x AC Power Cord
1 x Y type USB cable
5 x 120mm cable tie
10 x 200mm cable tie
1 x Y type 2 pin MOLEX cable
2 x 2.5" HDD enclosure
1 x SATA to USB Cable
10 x Screw M3*4mm
10 x Anti-vibration screw + M5*10 washer
2 x ISO screw 2*6mm
4 x Black Velcro 36cm

1 x OBV-3200 product
4 x AD-3 Unit
4 x RMC-240 Unit
5 x Headset
4 x φ3.5 Plug to φ3.5 Plug Cable
4 x φ2.5 Plug to φ3.5 Plug Cable
2 x AC Power Cord
5 x 120mm cable tie
10 x 200mm cable tie
1 x Y type 2 pin MOLEX cable
2 x 2.5" HDD enclosure
2 x ISO screw 2*6mm
4 x Cable & Cable Reel
1 x SATA to USB Cable
2 x HD sticker


